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The children will learn to reflect what they have learned :

* Supports mathematical learning and understanding.
* Tend to be more self-assured when learning new concepts.
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Doubt clearing and class test

in test notebook.
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A. Choose the correct answer. 7

1) If Binita bought oranges for Rs. 75 and she paid Rs. 100 to fruit seller,

which expression shows the correct amount of change that she will get back?
A) 100 + 75 B)100 - 75 C)100 x 75

2. Assertion (A): There are 60 seconds in 1 minute and 60 minutes in an hour.
Reason(R): We get 3600 seconds in 24 hours when we multiply 60 X 60.

A) Both, A and R, are true and R is the correct explanation of A

B) Both, A and R, are true but R is not the correct explanation of A

C) If Ais true, R is false

D) If A is false, R is true
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3)¥30+¥80+T25+%XF =¥ 150.50

A) T 15.50 B) ¥ 25.50 C) ¥ 50.50
4) The amount of 35 rupees 5 paise in figure is:

A) T 35.50 B) ¥ 35.5 C) ¥ 35.05
5) The amount of ¥ 28.25 in words is:

A) 28 rupees and 25 paisa B) 25 rupees and 28 paisa
6)T 78.12 = p
A) 7800p B) 7812p C) 78120p

7) 3009 paisa=%
A) ¥ 300.9 B)¥ 3.9 C) ¥ 30.09
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B. Add / Subtract and match with the correct answer.

LIST 1 LIST 2

A) ¥ 893.35 + ¥ 915.90 1. ¥ 187.55
B) ¥5211.45 -¥4210.15 2.¥129.21
C) ¥ 217.80 + ¥ 587.20 3.¥1001.30

E) ¥98.15 + ¥ 89.40 5.%805.00

A) A-2 B-5 D-1 E-3
B) A-5 B-1 D-3 E-4
C) A-3 B-4 D-5

D) A-4 B-3 D-2 E-1

5
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C. Read the story and answer the following. 3

Consider the following scenario to answer the questions. Nikhil went to
watch a cricket match in the stadium. He had ¥ 800 with him. He paid

T 200 for the ticket and a cap for ¥ 50. Inside the stadium he bought a
cold drink for ¥ 20, ¥ 40 for a chips packet. At the end of match, he
donated ¥ 50 to the charity club maintained by stadium officials.

i) How much money is left with Nikhil now?

ii) How much amount he spend inside the stadium?

ili) What is the total expence Nikhil has made?
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ANSWERS
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A. Choose the correct answer. 7

1) If Binita bought oranges for Rs. 75 and she paid Rs. 100 to fruit seller,

which expression shows the correct amount of change that she will get back?

A) 100 + 75 B)10{))7»5/ C)100 x 75

2. Assertion (A): There are 60 seconds in 1 minute and 60 minutes in an hour.

Reason(R): We get 3600 seconds in 24 hours when we multiply 60 X 60.

A) Both, A and R, are true and R is the correct explanation of A

B) Both, A and R, are true but R is not the correct explanation of A

f Ais true, R is false

D) If A is false, R is true
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3)¥30+¥80+T25+%XF =¥ 150.50

A) ¥ 1@50/ B) Z 25.50 C)  50.50

4) The amount of 35 rupees 5 paise in figure is:

A) T 35.50 B) ¥ 35.5 C)% 3\5/05/

5) The amount of ¥ 28.25 in words is:

A) 28 ruw 25 paisa B) 25 rupees and 28 paisa
6)T 78.12 = p

A) 7800p B) 781 C) 78120p

7) 3009 paisa=%

A) Z 300.9 B) 2 3.9 C) 2 W
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B. Add / Subtract and match with the correct answer.

LIST 1 LIST 2

A) ¥ 893.35 + ¥ 915.90
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B) ¥5211.45 -¥4210.15

C) ¥ 217.80 + ¥ 587.20

E) Z 98.15 + Z 89.40

A) A2 B
B) A5  B-1
C) A3 B4

Py A4 B3

5
1. ¥ 187.55
2.¥129.21
3.%1001.30
5.%¥ 805.00
C-4 D-1 E-3
C-2 D-3 E-4
C-1 D-5 E-2
C-5 D-2 E-1
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C. Read the story and answer the following. 3

i) How much money is left with Nikhil now?
ANS. ¥ 440
if) How much amount he spend inside the stadium?

ANS. X 110

ili) What is the total expence Nikhil has made?

ANS. ¥ 360
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N | Class Work :
Doubt clearing and class test.
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Children are able to solve a multiplication operation using

mathematical table , understand mathematical learning and tend to be

more self-assured when learning new concepts.
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